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FoldA A
ZAE] BAY B
okt R AL s (9l x <)
B4 A B9 (FHA) - ARAY - BRE o 2k o) 23a e
[= 17,160]
308 AR ehA] F ol A 59,500 59,500 0
01 AXGANESRZH 59,500 59,500 0
OAT FATAGT F1 = 59,500
[= 59,5001
A AL D3] (=) 62,400 57,600 4,800
308 ApA| kA 5o] A 62,400 57,600 4,800
01 AAGA G SRz 62,400 57,600 4,800
OsA#91d3] 9 = 62,400
[= 62,4001
A S E ALY (1) 5,200,000 4,550,000 650,000
308 A @A 5ol A 18,200 0 18,200
01 AXGANEYEEZT 18,200 0 18,200
OA 953 = 18,200
[ 14,000]
[= 4,200]
403 A} A S A o] A 5,181,800 4,550,000 631,800
01 AAGAAGZRZ 5,181,800 4,550,000 631,800
OA 9 E3HAH = 5,181,800
[+ 3,986,000]
(= 1,195,800]
a5 BAAHAEA (L) 32,000,000 37,090,000 25,090,000
308 AR kA F o] A 32,000,000 37,090,000 25,090,000
01 AAGA DGR ZT 32,000,000 37,090,000 5,090,000
OB 251 A2 EA = 32,000,000
[+ 32,000,000]
H S S 791,000 395,500 395,500
403 ApA| ek 5 A o] 7 791,000 395,500 395,500
01 AA DA AR 791,000 395,500 395,500
On =g 54 = 791,000
[= 740,000]
[= 51,0001




B2 3501¢
A7 2
ool seluA N 75

24 A @A EA) - ARG - RS oA At 9] 355 LS

87 dn] A A € 225,000 225,000 0
403 ApA Al S A o] 225,000 225,000 0
01 A A2 R % 225,000 225,000 0

OR#FAEgm ALk d 225,000
IEAE FEEAE 4 45,000 0 45,000
308 A}A|ehA| Fo] %l 45,000 0 45,000
01 AXGANEYEEZT 45,000 0 45,000

OATEe] 2 TsEAE §4 45,000
SAZAEFAE AL(F7HHA D) 450,000 0 450,000
402 R17kARE 0] 450,000 0 450,000
01 AR Z 450,000 0 450,000

OsdAIZHAY A 450,000
e e K s e R s 5,116,121 5,180,813 A64,692
T wE ARIFAEA Y 91,300 91,750 A450
201 L¥kegH] 17,650 15,950 1,700
01 AR 7,650 7,950 A300

OA BRI EA} BHE s WA A = 7,650

[= 3,825]

[= 3,825]
03  FARZFH] 10,000 8,000 2,000

OR B3 =2 A%3] HH 10,000

[= 5,000]

[&= 5,000]
308 A= ehA] w0l H 73,650 75,800 A2,150
01 AXGANAESREZH 73,650 75,800 A2,150

OA B3 =2 Fn] 66,300

[= 51,000]

[= 15,300]

OA B =2 w5 F 7] 7,350

[= 7,350]




rEold A Ay
e AAY &Y
cxETA o) abol A s (91 :9))
BA A BH(FHA) - ARAY - AR E o ko) 23a EEx
AAEFAEH 9 30,000 24,000 6,000
307 ®ztold 30,000 24,000 6,000
02 WAdHRZ 30,000 24,000 6,000
(O AR R A A Bl 30,000
T UALE FEXY 98,892 96,768 2,124
308 AR kA Fo] %l 98,892 96,768 2,124
01 AXGAESEEZT 98,892 96,768 2,124
FAERE G sl 98,892
SOl AfrobdSn] Ad(=aL) 1,657,729 1,437,800 219,929
308 A g o] A 1,657,729 1,437,800 219,929
01 AAGA G dHZF 1,657,729 1,437,800 219,929
OFA] DfrotdsH] A 1,657,729
[ 1,275,176]
[= 382,553]
ol A abm A 979,000 1,002,000 A23,000
308 A A 5-0] A 979,000 1,002,000 A23,000
01 AAGA G dHzF 979,000 1,002,000 23,000
OFAdd g2 sk} 979,000
o] A EQlol AEE ) (aL) 1,780,394 2,183,800 A403,406
308 AR kA F ol % 1,780,394 2,183,800 A403,406
01 AAGA DGRz 1,780,394 2,183,800 403,406
O945d dEEF7] AR 1,780,394
[= 1,444 ,826]
[= 335,568]
o]0 F Al A (F3L) 258,706 0 258,706
307 ®zkolAd 36,400 0 36,400
02 WNAFHRZ 36,400 0 36,400
O=AZEZALEA] w5 36,400
[= 25,480]
(= 10,920]
308 AR GHA| So] A 222,306 0 222,306
01 AXGAEYEET 222,306 0 222,306
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A Eold A 7t
A BAsy BAY F
Hol T Edel &4 (91 :9))
B4 A B9 (FHA) - ARAY - BRE o 2k o) 23a e
10 AAPAH| A 3,000 2,850 150
OHdsdd FEZE d4(199) = 3,000
FSRATA 54 145,140 173,700 A28 ,560
201 Iuk-gH] 2,740 1,500 1,240
01 AR n) 2,740 1,500 1,240
OFdAd 23 L A 74 = 2,740
202 o3n] 2,400 2,200 200
01 =oin] 2,400 2,200 200
O 53 2 A5 & = 2,400
307 ®1zkolA 140,000 170,000 30,000
02 WNAFRZ 140,000 140,000 0
OFdAeA FA4x = 140,000
A9 543} w5 (=aL) 1,200,000 800,000 400,000
307 ®IgkolAd 1,200,000 800,000 400,000
02 WAdHRZ 1,200,000 800,000 400,000
OA 9 EA gt = 1,200,000
[= 600,000]
[= 600,000]
FAAEA B A sFAJNA(H L) 83,300 42,000 41,300
308 AR kA F o] A 83,300 42,000 41,300
01 AAGA DGRz 83,300 42,000 41,300
OsdNEA 2 FdsFaAA = 83,300
[= 83,3001
TAAPIAEY A L(=Fa) 400,000 178,000 222,000
308 A @A 5ol 400,000 178,000 222,000
01 AXHABFEZET 400,000 178,000 222,000
Osd4dx4d A4 = 400,000
[= 400,000]
FHA HENS +QJ(=aL) 374,000 21,000 353,000
403 ApX| WA T Aol A 374,000 21,000 353,000
02 &7l gt Aty 374,000 21,000 353,000
Osd4I R AEA74A = 24,000




A Eold A 7t
A BAsy BAY F
Hol T Edel &4 (91 :9))
R ER-TICE PR E R TR R 355 LS
Osodd 143444 +4 350,000
FAFEAE G WE(=aL) 72,800 44,000 28,800
308 AR ehA] Fo] 7 72,800 44,000 28,800
01 AXGAEYEET 72,800 44,000 28,800
FAEFEF A 72,800
[= 56,000]
(= 16,8001
v g Ay Fs7v Ad 120,000 0 120,000
403 A}A| ThA) 52} E0] A 120,000 0 120,000
01 AAGAAERZ 120,000 0 120,000
Ol gsgy 9578k A 120,000
ZAEsENT &3t 49,748,200 20,928,930 28,819,270
FEAGE A9 &3t 822,400 199,500 622,900
Fh EA S AR A A (=) 168,000 168,000 0
308 A @A) 5ol A 168,000 168,000 0
01 AXNGANEYEEZH 168,000 168,000 0
O roAEA kS A A8A 168,000
[= 168,000]
FEIG 93 31 134,400 31,500 102,900
201 IukL-<gH] 5,000 0 5,000
01 AHF-3E]n) 1,000 0 1,000
Os=WFAEE T1 1,000
03 ARG H] 4,000 0 4,000
OsEHFAErS TH YA} 4,000
202 ojn] 1,600 1,500 100
01 =iodn] 1,600 1,500 100
oAt 531 2 AFde] & 1,600
307 H1gkolx 20,000 0 20,000
02 WA GR=x 20,000 0 20,000
O% -5 FAZREAE 3] 20,000
308 A @A 5ol A 107,800 30,000 77,800
01 AXGAEYEET 107,800 30,000 77,800




FA sl A
AR AT 3]
HolsE=AAN S A s (Helxeh
24 AA - BAGA) - ARAY - WY of 43 o 355 e
OsEWFA 2 o|HE A} 40,800
OsEHFAAE APeE 9 40,000
OF&HFAdrts AH-E A8Ad 27,000
AR FHEZZ o Q9 (Fa) 520,000 0 520,000
308 A wA]F ol d 520,000 0 520,000
01 ApAehA| A dn =g 520,000 0 520,000
OZARIFA 2= A< 520,000
[= 400,000]
[= 120,000]
sEWFTIN BF 2,523,600 3,815,430 A1,291,830
A 5E Adeks 24 (=) 1,950,000 2,250,000 300,000
403 AR TA| T AHEo) A 1,950,000 2,250,000 300,000
01 AADAAER 1,950,000 2,250,000 300,000
O=sAsEAEE 24 1,950,000
[+ 1,500,000]
[= 450,000]
TEWRG A= I 573,600 574,000 A400
202 4] 9,600 9,000 600
01 =rujodn] 9,600 9,000 600
O 2 dFdel & 9,600
403 AR TA| T AL o] A 564,000 565,000 A1,000
01 XA AR % 564,000 565,000 A1,000
SEWFAIS =A@ 120,000
OFEdFuA4L g5 444,000
EEAY 46,402,200 16,914,000 29,488,200
A&HAG (=aL) 23,000,000 0 23,000,000
308 A= eA] 5ol H 9,200,000 0 9,200,000
01 ApA kA A dn = 9,200,000 0 9,200,000
Ol gAY 9,200,000
[+ 9,200,000]
403 AL Al 5 A} o] A 13,800,000 0 13,800,000
01 AA DA AR 13,800,000 0 13,800,000




SEoldg A
AAEENE &Es)
=AY (T} A )
B4 A B9 (FHA) - ARAY - BRE o 2k o) 23a e
OAl &= ALY = 13,800,000
[¥  13,800,000]
AsoEddes &8st 531 245,200 120,000 125,200
201 Iuk-gH] 78,700 23,520 55,180
01 AR n) 63,700 23,520 40,180
OF-Frks o 2 F&2 Az = 17,000
ON s dLT 193] &9 = 6,700
OMsA=14 s 1 DA = 20,000
OBest -Frhs SHE A%} = 10,000
ORSFwA AL (= - £]) = 10,000
03 AL 15,000 0 15,000
Oyl Aeus = 15,000
202 ojn] 20,000 19,000 1,000
01 =oin] 20,000 19,000 1,000
O8] 5 AdFH = 20,000
301 IukEAH 66,500 62,480 4,020
07 WIZFQI= &]oln] 50,000 50,000 0
kS A XA e dg = 50,000
10 SYAREH| G H 16,500 12,480 4,020
OMsolE=0dTE 9193 = = 16,500
307 R17tolx 80,000 15,000 65,000
02 WA SRZE 40,000 0 40,000
OM-sAETAHAEE ot AA 9 = 40,000
04 AR Z 40,000 15,000 25,000
OMFAERALLE FaF & 5= FTIMNEA
A dzk3 = 25,000
OF-Frks A=A Azk3] 7HH = 15,000
ANEolERL s 5 dEEd nhS A< 9,300,000 9,200,000 100,000
403 A @A) 52 o] A 9,300,000 9,200,000 100,000
01 AR GAN AL H 2= 9,300,000 9,200,000 100,000
OMNEAENLLEE kS A4 = 9,000,000
OMsolE=Nds HERErS AA = 300,000




A rEold A A7

AR AsENT s}

L o s A 8 (91 :9))
B4 A B9 (FHA) - ARAY - BRE o 2k o) 23a e
S EAA 2E S QIAE R 29 150,000 0 150,000

308 AR ehA) F ol A 150,000 0 150,000

01 AA kA A dnza 150,000 0 150,000
OntSH2IA 2" H7F JAHE A ¢ = 150,000

s FNE AFA(=a) 13,707,000 7,584,000 6,123,000

403 AR Al 5 A} o] A 13,707,000 7,584,000 6,123,000

01 AAGAAER 13,707,000 7,584,000 6,123,000
(O K P IDARCS! = 13,707,000
[+  12,905,000]
(= 802,000]

BB B (A8 AH) 412,268 412,859 A591

A H| 379,800 380,640 A 840

HERL 379,800 380,640 N840

203 QEF-F714] 28,800 28,800 0

01 7]#EFAFFx| 6,000 6,000 0
O=% = 6,000

04 FAFFGFFH| 22,800 22,800 0
O15%! °]s} 250,000 «237}+ 12 = 6,000
©308! ©]3} 350,000 #437}+129 = 16,800

204 A58 A H| 351,000 351,840 N840

01 AAFHFTAEH 36,600 36,600 0
O=% 600,000 1 *129 = 7,200
oA, H74 350,000 778 x129 = 29,400

02 AFHZEH 252,000 251,640 360
O3+ 500,000 1«12 = 6,000
O4= 400,000 +74#12¢Y = 33,600
05+ 250,000 %2574 %129 = 75,000
O6w 155,000 34«12 = 63,240
©rs=y 140,00099 %33 #1249 = 55,440
O8~9+ 105,0009 %12 «129 = 15,120

OAM &L FFZ(EEZFAH)

300,000 19 %12¥ = 3,600
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